
SOLUTIONS PLUME-TAMBOUR N° 104 

 

Solutions  écrivains 

Zola, Duras, Aymé, Molière, Maupassant, La Fontaine, Flaubert, Voltaire, Racine, 
Rimbaud, Hugo, Boileau, Labé, Ernaux, Baudelaire, Camus, Musset, Verne, Dumas, 
Proust, Beckett, Houellebecq, Ronsard, Rousseau, Beauvoir 

Solutions énigmes 

Réponse : 
Albert Colette Frédéric  Daniel 
 
Réponse : 
Soit beurre = b , crème = c, lait = l. Alors 1l = 0,12c puis 1b = 3c donc 1c = 1l/0,12 et 1c = 1b/3 
et 1c = 1l/0,12 d’où 1l = 0,12b/3 
D’où 100 l = 4b pour 30 jours ça donne 30 X 4b = 120b au prix de 68 par kg donc 120 X 68 = 
8160 Fr.  
abcd X 4 : dcba 
 
Réponse :  a = 2 b = 1 c= 7 d = 8 soit 2178 X 4 = 8712 
 
Solution animaux 
 

 

 
 
 


